{ Quick Review

» When you multiply a number by itself, you square the number.
The square of 5is 5 X 5 =25
We write: 52 =5 X 5=25
We say: Five squared is twenty five.
25 is a square number, or a perfect square.

» You can model a square number by drawinga [
square whose area is equal to the square
number. .
You can model 25 using a square with side
length 5 units. 25;2;:& 5 units
1 []
5 units
Find the perimeter of a square with area 9 cm?.
First, find the side length of the square.
Since 3 X 3 =9, the side length is 3 cm. So, the 9 cm?

perimeteris3cm+3cm+3cm+3cm=12cm

20 is not a perfect square because you
cannot create a square with area

20 square units using square tiles. The
4 X 5 rectangle is the closest to a
square that you can get.

16 is a perfect square because you can
create a square with area 16 square
units using square tiles.
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